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1 Which age group of children does the Sarva Siksha Abhiyan aim to promote education?

(a) 6 to 10 years
(b) 5 to 3 years

(c) 6 to 14 years
(d) 7 to 12 years

2 Infant mortality rate is the death of a child under

(a) One year
(b) Three, year
(c) Two year
(d) Four year

3 Which of the following sectors faces the problem of seasonal unemployment?

(a) Service sector
(b) Agriculture
(c) Trade

(d) IT sector

4 The working population includes people from 15 years to

(a) 55 years
(b) 59 years
(c) 60 years
(d) 65 years

5 Which one of the following is considered important to create a ‘virtuous cycle’ by the parents?

(a) To send their children to the school

(b) To provide goods food to their children

(c) To join their children in corporate schools

(d) To take care of the health and education of their children

6 Investment in human capital can be made through

(a) Education
(b) Training

(c) Medical care
(d) All the three
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The scheme for the establishment of residential schools to impart education to talented
children from rural areas is

(a) Kendriya Vidyalayas
(b) Navodaya Vidyalayas
(c) Sarvodaya Vidyalayas
(d) None of the above

Which one of the following is include in Secondary sector?

(a) Trade

(b) Marketing

(c) Manufacturing
(d) Education

The most literate state in India is

a) Bihar

b) Assam

¢) Tamil Nadu
d) Kerala

10

Most of the workers in the sector enjoy job security.

a) Primary sector

b) Organized sector
¢) Unorganized sector
d) Public sector

11

Which of the following is included in the primary sector?

(a) Manufacturing
(b) Tourism

(c) Forestry

(d) Communication

12

A situation in which more people are employed on a job than are optimally required is

(a) Disguised unemployment
(b) Seasonal unemployment

(c) Educated unemployment

(d) Cyclical unemployment

13

The two determinants of earning by an individual in the market are:

(a) Health and Education
(b) Education and Skill
(c) Age and Education
(d) Skill and Age

ASSERTION AND REASONING: -
In the question given below, there are two statements marked as Assertion (A) and Reason (R). Read the
statements and choose the correct option:
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14 ASSERTION(A): Human resource is necessary for the progress of any country.
REASON(R): Investment in education and health of people can result in a high rate of return in
the future.

Options:
(a) Both A and R are true and R is the correct explanation of A.
(b) Both A and R are true and R is not the correct explanation of A.
(c) Aistrue butRis false.
(d) Ais false but R is true.

15 ASSERTION(A): Market activities are performed for pay or profit.
REASON(R): Non-market activities are performed for self-consumption.

Options:
(a) Both A and R are true and R is the correct explanation of A.
(b) Both A and R are true and R is not the correct explanation of A.
(c) Aistrue but Ris false.
(d) Ais false but R is true.
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